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%= 8 B2 #l=|* a4 AERE | HEE | | B
w | 5 1) YEHE | FEHE (%)
ft
'01|'01|'01 |FEEEBREE Z |EERBR 4,195 4,482 A 287 N 6.4
'01['01|'01 |BRf-& Y FITEE Z |BRBRE 2,028 1,581 447 28.3
'01]'01| 01 | AEBEHKRUVEERTHROBMRETEE Z |EeRBR 1,995 1,847 148 8.0
01|01 |01 | FERBRURRRRREORIL ATLERE | z [menns 1000 977 23 24
ES]
'01]'01|'01 |FEEBEATE 2 N+ 46,610| 43,815 2,795 6.4
'01('01|'01 |hESHEBAGE = FRHNIER 123,446| 121,184 2,262 1.9
'02|'01|'01 |BiEFHES % % |AE2 676 677 Al A01
'02('01| 01 |BEERNEEEE Z | \EE 3,592 3,365 227 6.7
'02('01| 01 | ABE—MREIEEE & % | AE2 83,482 93,739 A10,257] A 109
'02('01|'01 | =HMAIREEFIERILEE & BRI ER 1,479 1,465 14 1.0
'02|'01|'01| A% - #6565 2T LEREE = AER 22,777 4,402 18,375 417.4
02|01 |01 |iEHINE—REREE = Z [EHICER 20,195 20,731 A\ 536 N 2.6
'02]'01|'01 |—REBEEEBEAGE (—) ES N+ 781,178 683,902 97,276 14.2
'02('01|'02 |fEEE Z |HRE 296 287 9 3.1
'02('01|'02 | ok EE % |hERE 1,764 1,794 A 30 AT
'02|'01 | '03 |[RHR;EENE z MR HER 5,521 5,722 A 201 A35
'02|'01|'03 1B ARG Z |mRmER 59 60 A1l A 17
'02|'01('03 BN IERIREHESZE Z |hRmHER 136 88 48 54.5
'02('01| 04 | ReEmELE % |BAERER 314,358 84,398 229,960 272.5
'02|'01 | '04 | Mk EEREE = % MR 13,682 8,349 5,333 63.9
'02('01|'04 | R OIREEE EBESE 3,847 5,085 A1238] A243
'02|'01|'04 |35 & LINBLEI L EE Z |BAERER 303,843| 87,574 216,269 247.0
'02|'01|'04 |4 AT LEREE E Z | BGER 6,045 6,040 5 0.1
'02|'01|'05 |SEHEEmEYE % |&EtER 1,794 1,147 647 56.4
'02|'01|'06 | @M EEREE Z |MEEER 2,866| 56,638 A 53,772 A 949
'02|'01|'06 | AR EHITEREE = z |mETEsE 70,920 72,841 A 1,921 N26
'02('01|'07 |BEEERESE [FH]) ES mRE 12,622 0 12,622 i
'02('01| 07 |BUEMIRELE Z |BkR 360 360 0 0.0
0201 |07 | mEE Z |BURE 140 233 A93| A 399
'02['01| 07 | AT EGEE S Z |BkR 96 92 4 43
'02('01|'07 |#EERIEEE ES BUORR 2 3 Al A333
'02]'01['08 |F—Lr—JIC L BIERRIEEE & MRS E S 1,914 1,896 18 0.9
'02('01|'08 |1IEHRBISBEBREMEE e Z |#REHERER 43,872 42,166 1,706 4.0
'02]'01['08 |4 > &—%v hEREE Z |BEHERR 102 101 1 1.0
'02'01|'08 |EFHEMBESHE - Z |#rEtiEmaR 90,302 95,762 A 5,460 ABT
'02]'01|'08 [METTE R v b7 — 0 HEfFHRE & Z |BEHERR 2,158 2,533 A 375 A 148
'02|'01|'08 |t RME - HESHIEEEEE (HaHBERE Z |BEtIB IR 7,073 6,857 216 3.2
'02]'01['08 |fEW ¥ 2 U T 1 FeRILEE & IR E S 12,689 12,475 214 1.7
'02'01['09 | NER X EELE Z |BER 904 1,754 A 850 A 485
'02|'01 | '09 |HEEKREE(L ST SEHEE 2 z |msm 6 10 A4l A400
'02'01]'10 (B Rty X —EEBEEEE e Z |Brm IR 7,459 7,145 314 4.4
'02]'01|'10 (B E A AFBNEE Z |Ekm IR 104 104 0 0.0
'02('01 | '10 |tz BB BAL = o X —FEBh R Z |BHrEmIR 54 54 0 0.0
02| 01|10 [T S TAERBFERIY — e L K- z |B\rmTE 438 427 11 2.6
E-E 3

'02'01|'10 |#hEEA L FMETBLEE ES HiE TR 10,000 10,000 0 0.0
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'02]'01|'10 | MR REZRESE RERRBESHENEE Z |#kmIR 84 86 A2 A23
'02('01|'10|FBOIRE— MR EBEE Z |BHrmIR 22 22 0 0.0
'02]'01|'10 |$h EMEERREmHEE Z (BRI 1,372 1,378 A6 N 0.4
'02]'01|'10 [BnEHREMEESH) FRESEE Z | IE 58 85 A27| A318
02|01 | "1l |=AmELREFEEE Z | RHEE 1 1 0 0.0
'02('01|'11|AS >HREDY HE Z | R EhER 550 550 0 0.0
020111 | ZHMER Gty 2 —EEEBEE & Z |mE#HER 34,198 43,239 A 9,041 A 209
02('01|'l]l | ERASEEEHEE Z | R ERR 1,347 1,335 12 0.9
'02|'01|'11 |FERBEAEE Z | RHEE 117 108 9 8.3
02('01|'11|RF &Y —EEXIERE Z | R EhER 4 3 1 333
0201 |11l |KRASEERMBHIEE % | RiEER 1,480 4,000 A 2520] A 63.0
'02('01| 11 |HREBMRER A > FHIESE z MR BER 421 455 A 34 AT5
'02]'01|'11|3 T2 =F 4 BhANEE [ z |hRHEE 2,500 0 2,500 =
02('01| 11| TEbBEENWNIC] HAKLTTSEHIETERE z MR BER 2 1 1 100.0
'02('01|'1]l | BaARSEHESE ES mRHER 450 233 217 93.1
‘02|01 | '11 |BEIBATHES IR = % |MRBER 22,230 22,047 183 0.8
'02|'01 | L1 | ERFICATHERFE TR MBI B2 Z | RBER 648 696 A 48 A 6.9
'02['01| 11 | BRI SRR z MR BER 3,515 3,371 144 4.3
0201 [ '] |BREHEEE z |hRHEE 630 634 A4 A 0.6
02|01 |11 JHBEEFREHEESRE % |MRBER 989 792 197 24.9
'02]'01 | '11 | —ARRBURERFI— MR BB EE Z | RBER 1 1 0 0.0
‘02|01 | '12 | A\AEHE# EBh =L Z |HRY—EXE 200 400 A 200 A 500
'02('01|'12 | RIBAEZE Z |mRY—EXE 553 547 6 1.1
'02('01| 13 |AKEBFBA L B Z | FAEER 37 38 A1 N26
'02('01| 13 | AR IB R B E B % |TFkER 2,359 2,712 A 353 A13.0
'02('01| 14 |H R AN EHEE ES mRE 145 15,367 A 15222 A99.1
'02('01| '15 | T IHHARATEE Z (TR 475 465 10 2.2
'02('01|'16 |#IFE HARATEZE % |#07= HHaRAT 108 108 0 0.0
'02('01| 17 | R FEESEEEE Z [ERIcER 120 119 1 0.8
'02|'01|'18 | BMEZRNS B z |MEEEE 11 11 0 0.0
'02('01 | "19 | A RIVEERINEZE Z | BH5ER 15 17 A2 A118
'02('01'20 %Etﬁ?_%Eﬁiﬁﬁ%%%%%m@gﬁ% Z | M BGE 527,656| 528,467 A 811 AN0.2
He (BN

02('01 |21 |EBETFEERESEX Z |MBGR 1 1 0 0.0
'02]'02|'01 |AEEETMEEZERFE Z |mMRY—EX#E 34 39 Abl  A128
'02'02 | '01 |RBEHBEBE AGE - A=R 114,340| 109,824 4,516 4.1
'02('02|'02 |HIRRFL R EE z |BiFER 11,182 9,181 2,001 218
'02('02|'02 |BHER—fREEREX z |3 910 577 333 57.7
'02('02|'02 |EEEERTME A EE e Z |BEsER 16,353 16,105 248 15
'02('02|'02 |EEEERBRREE z |3 826 1,098 A272| A 248
'02('02|'02 | A B ERBEHEE z |BiFER 186 147 39 26.5
'02('02 | '03 |t EHueRIL F e Z %R 9,016 8,487 529 6.2
'02('02|'03 |k E(EEE z |BiFsER 14,718| 14,404 314 2.2
'02'03|'01 |FEEREABIREE Z |HRY—E2B 12,147| 13,005 A 858 N 6.6
'02]'03 [ '01 |FEEEREARGIRERE AHE & N 56,338| 58,462 A 2,124 A 3.6
'02'03|'01 | AOBH LA =R =E Z |HRY—E2B 45 45 0 0.0
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'02|'03|'01 |FfEEHEO IV 1 —X{LEE 2 TRY—EXE 9,768 9,804 A 36 A 0.4
02|04 |01 |BEEEEEAEE = Z |B2EBERR 2,100 2,093 7 0.3
'02]'04|'0] | REEBEEESBHAEAGE 2 N 22,997| 26,141 A 3,144 A12.0
'02('04('02 B2 \EZEHEETE Z |[EREEEFEHR 31 39 A8l A205
'02|'05 | '01 |#EEtIAE—AREE Z |#EETHIEHRE 97 98 Al A10
'02|'05 | '01 |EHAERBEBE AGE = ANEE 16,439 7,921 8,518 107.5
'02|'05|'02 |BMEL > REBE 2 HETIEiRE 17 1,816 A1,799]  A99.1
'02'05|'02 | TEMtATEE = B EE 157 178 A2l A118
'02|'05 | '02 | ERERAEEE 2 ERNEETES 16 11 5 45.5
'02|'05 |02 |fEFL P REE = B EE 130 495 A 365 AT37
'02('05|'02 |ERAEEE £ HratiEEgE 19,080 312 18,768 6,015.4
'02|'06 | '01 |EEEEHEE = % |EAZEEHR 2,189 2,189 0 0.0
'02|'06|'01 |BEEZEEMEAGE ES UNE -+ 33,724| 33,777 A 53 A 0.2
'03|'01|'01 | REZE - REZEHBAEE Z @R 843 843 0 0.0
'03|'01 | '01 |H=tEU BB EZE Z |f@uER 57 57 0 0.0
'03|'01|'01 |REZEHEREE Z @R 41 85 A44| A51.8
'03|'01|'01 | H=AEEEE e @t ER 7,776 7,776 0 0.0
'03|'01 |01 |HEBUME —REREE % |1BhteE 25,968 8,306 17,662 212.6
'03]'01| '01 | TEALIBESFBIEE Z @R 38,200| 37,500 700 1.9
03['01|01|RT T4 Ty X —EEMYEE Z @R 495 495 0 0.0
'03|'01 | '01 |MbigidR il St EHEE R 2 % |BhtaE 21 63 A42|  N66.7
'03['01| 01 | HABUHREEBE AGHE & PNEE 106,637| 114,982 A 8,345 AT3
'03|'01 |01 |BiEEEleEE Z B 132 133 A1 A 08
'03|'01|'01 | ANiEREREE Z @R 1,003 971 32 3.3
'03['01| 01 |EiENEEHEBIIXIBEE & Z B 6,014 5,930 84 1.4
'03|'01 | '01 |IBFEFRHREIABI R EZE Z @R 64 64 0 0.0
'03['01| '01 |4THRIE A FEIR LB EE & Z B 926 905 21 2.3
'03|'01|'01 |#AiEAFEEE Z @R 1 1 0 0.0
'03|'01 | '01 |4 SE IR ERPI — BB EE Z (B 1 1 0 0.0
'03['01|'02 |BEEERR—YKRSINEE % |f@tER 16 16 0 0.0
'03]'01|'02 |Ht=tEAER S RATOBE MBI B Z |f@taR 8,331 8,798 A 467 A 5.3
'03['01|'02 |FEER(TERE & R 23,005 22,983 22 0.1
'03('01|'02 | EESHBEEESHABRY — L REHE & BHER 300 252 48 19.0
'03]'01|'02 |REEERUFAMHEIEE Z |fEEER 105 105 0 0.0
'03|'01|'02 | BEEREEEEEXHARESMEE ES BHER 1,562 1,171 391 33.4
'03]'01|'02 |EEREEEIEEE & RS 1,163 1,301 N 138 A10.6
'03('01| 02 |BAEEEHRTEE & BHER 58,384 46,615 11,769 25.2
'03|'01|'02 | BB EEEL RTINS - SUEBEE & EERES 100 100 0 0.0
'03|'01|'02 |45RIEEEFAERIMEE ES BHER 10,131 9,961 170 1.7
'03]'01|'02 |BEEHERSEEE Z |fELER 900 1,983 A 1,083 A Db546
'03['0L|'02 | L EEEREFIIHRREE Z | FELE 9,563 9,570 AT A 0.1
'03]'01|'02 |EEEBIXIERTESEE & Rl 739,601| 709,236 30,365 4.3
'03|'01|'02 |EERERHREEE Z |f@tta 1,075 1,302 A227| A17.4
'03]'01|'02 |FEEEALGTESEREEE Z |fEHEER 54 26 28 107.7
'03|'01|'02 |EEEEREERBIR 7 —BIMEE Z |f@tta 2,907 2,802 105 3.7
'03('01| 02 |lEEEL—BREBEE Z |EnaR 1,915 2,035 A 120 A59
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'03['01|'03|EFAY S TEREE Z | =k aER 2,937 3,010 AT3 A24
'03['01| 03| N—AMt Y & —BEE Z |eimER 7,513 7,513 0 0.0
'03|'01['03|ZAF—LERERBEE 2 ST £ 12,957 12,165 792 6.5
'03|'01|'03 |EABH— AR EREE = Z |eimER 258 258 0 0.0
'03|'01|'03 |BEEE Z |=ENaER 103 105 A2 A19
'03|'01 | '03 | Mg HE R pEE = 2 Z |einER 658 658 0 0.0
03101 | 03 i@%%ﬁéwaﬁt?r - N ERREEAERES + PEgN— - 0 - .
'03|'01|'03 | StinEEi Y — £ REE ES BN E R 127 107 20 18.7
'03]|'01('04 | ZARBUREL > 2 —EEFE & Z | SN R 24,968 24,414 554 2.3
'03|'01|'05 |ERESEE = REZELZ 145 216 ATl A 329
'03]|'01('05 |ERESEMEAGE ES N+ 13,451 10,781 2,670 24.8
'03]'01|'06 |00 & Y MREEEREBMREE (REHD) & z |REFEEE 25,618 27,632 A 2,014 AT3
'03]'01|'06 |0 & Y MRESEREBMEE (HHMD) z |REFEEE 2,287 2,337 A 50 A21
'03|'01|'06 | EEEREXAEE & REESE 1,229 1,156 73 6.3
'03]|'01|'06 |'NEEREBKEE (REHD) ES RIBEDR 45,614| 42,361 3,253 7.7
'03]'01|'06 |!NEEREB A EE (FEMRS) S REESE 71,354 63,541 7,813 12.3
'03|'01|'06 |EELHREEERETINEE (REDD) ES z |REFEEE 101,641 101,683 A 42 0.0
'03]'01|'06 |EELBREEEEREIAEE (HHEMED) z |RBEFEEE 35,898 37,799 A 1,901 A 5.0
'03|'01|'07 | EREERREEEABHE * B BGR 390,592| 393,723 A 3,131 A08
'03]'01|'07 |E RERERSBERRIRIHEES (LN % |MBGE 57,667| 62,473 A 4,806 ATT
'03|'01 | '08 | N EERBEEIFISHEHS * B BGR 819,111| 756,217 62,894 8.3
'03|'01|'09 |[AiEELEIBEELE = 1RBRE SR 592,873| 551,113 41,760 7.6
'03]'01|'09 | HAmEERSESIRHRES e BAEGE 159,757 149,686 10,071 6.7
'03['02| 01 | REHKBFUSEEHEE Z|FEuR 27 3,056 A 3,029 A99.1
'03'02|'01 |\ REF LIATEHEE Z |FELR 43 86 A 43| A50.0
'03('02| 01 | BERUMEEBE AGHE = PNEE 38,240 37,969 271 0.7
'03|'02|'01 | FECKELY R —HE Z |FELR 6,400 6,400 0 0.0
'03'02 | '01 | Rt E R IEEE = FEHR 48 144 A96| A 667
'03'02|'01 | RERIES EHEE Z |FELR 119 152 N33 A2L7
'03]'02 | '01 | HEEBM EEFHEEMBIEE Z |FEHE 150 150 0 0.0
'03('02| 01|\ REEHpILHE £ FEHER 300 300 0 0.0
'03['02| 01 |MEBB RERSEREE ES FEHE 43,998 52,425 A 8427 A161
'03['02|'02 ||REF LHE{THE e FELE 455,345 477,570 A 22,225 A 4T
'03('02|'02 |\ BEHREF LiaftEE = FEHE 137,809| 168,224 A 30,415 A18.1
'03['02|'02 |00 & Y MEREBIRIERTSSE E= FEHER 258 272 AN 14 A5l
0310202 |00 & Y BEBITIEEE = FEHE 5,280 4,908 372 7.6
'03('02|'02 | F &b FEEBEMASREE z|FevR 417 399 18 45
'03('02|'02 |\ BEREEHEE = FEHE 473,172 422,362 50,810 12.0
'03('02|'02 | REIREFFIRE B e FebLE 13,167 17,548 A 43811 A 250
'03]'02|'02 | RERBFTIREIEZE (FEHM) |z |FEHE 3,438 2,751 687 25.0
'03'02|'02 |ERRBRERLE e FebLE 4,751 4,492 259 5.8
'03|'02 | '02 |—B5FEA Y B = FEHE 3,526 3,300 226 6.8
'03['02['02|77IYU—HYKR—bErI—FHE ES FELE 4,794 237 4557 1,922.8
'03]|'02('02 |%RHE - REE|ENLEE [F#) =2 FEHE 154,320 0 154,320 i
'03|'03 | '01 | £ ERELBITEHEE & Z |f@tta 9,089 11,381 A 2292 A201
'03]'03| 01 | £ HREHRBEBE A& & N 54,291 53,882 409 0.8
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'03|'03 |02 |4iEIREEE & B 1,254,860( 1,266,245 A 11,385 AN 0.9
‘03|04 | '01 |S¢EHBHEE Z |f@ttaE 1 1 0 0.0
'04('01| 01 |[{REETAERE—BEEEE Z (EoO< YR 221 546 A 325 AB595
'04|'01 | '01 |fRHMEBERBEBE AT = ANEE 123,028 116,579 6,449 5.5
'04|'01|'01 |BRBEEREE Z (o< YR 1,000 1,195 A195] A16.3
'04|'01|'01 | =B EMIAMBIEE Z |fEEEo<C YR 2,030 2,030 0 0.0
'04]'01|'01 |EABMEMEMR =B AMHIEE Z |BEOC YR 243 243 0 0.0
'041'01|'01 [{RE 2 BB 2EMX(E Z |BEROCYER 150 150 0 0.0
‘0401 '01 | AR EEREDSREE Z RO YR 17,203| 17,069 134 0.8
'04('01|'01 | =@mIERAaBE & D YR 172,171| 172,833 A 662 A 04
‘0401 |01 | A ERLSFEREGKESSBESEE Z (EoO< YR 8,382 8,786 A 404 AN46
'04'01 |01 |/NBI B RSN HEEE Z |fEEo< YR 1,310 1,332 A 22 AT
'04|'01|'02 | A RBEE S fEDOC YR 56,156 56,007 149 0.3
'04|'01 | '02 |fEEEEEE Z |fEEo< YR 1,010 737 273 37.0
'04'01 [ '02 |Huis BRI Z @R 178 157 21 13.4
'04]'01|'02 | A sERHER S B BE S EICYR 270 221 49 22.2
'04]'01|'02 |RERZEEE (—H) = fEESCYE 22,109 21,820 289 1.3
'04('01|'02 (8D 7 T RT 4 /LB Z |EOCYR 54 61 ATl A115
'04|'01|'02 |fREREEEE Z (Eo< YR 2,576 2,576 0 0.0
'04|'01|'02 |RiBBIEEEEE Z |fEEo< YR 440 444 Ly AN 0.9
'04|'01|'02 |E L AFHEESEE Z (o< YR 110 220 A 110 A 50.0
'04|'01|'02 | EERFHIEEELE Z [fEEo< YR 33,752 30,743 3,009 9.8
'04'01('02 | KFmEHET HEE ES i3 SR QU= 208 906 A 698 ATT0
'04('01| '02 |EERMREER A TE Z (fEEo< YR 372 352 20 5.7
'04 [ '01| '02 | Ml R EENT SR 2 Z (o< YR 3,000 3,000 0 0.0
'04('01| 03 | DI EIA R Z|[FEuE 214 201 13 6.5
'04|'01|'03 | BT RMEEE Z |FELR 221 121 100 82.6
'04 [ '01| '03 |#FEERHTA RS EE & Z|[FEuR 1,303 1,412 A 109 ATT
'04('01| 03 |{TIREEL AT £ FEHER 12,749| 11,899 850 7.1
'04]'01('03 |3y RIEHEMEEE Z |FEHE 9 8 1 12.5
'04'01|'03|%) - REEEAN EIEHELE Z |FELR 556 514 42 8.2
'04 | '01 | '03 | FRAIEER S HEERBh Z|[FEuR 500 500 0 0.0
'041'01|'03 [FRHE—MEIREE Z | FELR 227 206 21 10.2
'04('01|'03 | THEEE Z|FELE 743 672 71 10.6
'04('01|'03|FELDFREEEE z|FevR 54,378 53,055 1,323 2.5
'04('01|'03 | RizEESEEE Z|FELE 9,763 4,063 5,700 140.3
'04|'01|'03 | FETHARBIELIBEEE ES FEHER 4,807 6,522 A 1715 A 263
'04('01|'03|shRAEICHT SR U ENEEE ES FEHE 262 253 9 3.6
'04|'01|'04 | KDZEHFEEE Z |BER 1,156 1,351 A195| A 144
'04|'01 | '05 | A ZES LY Z |[HRY—E 28 14,323 13,400 923 6.9
‘04102 | '01 | M E( BIRE R Z (mEE 17 17 0 0.0
'04]'02|'01 |iBEEEREE Z |RER 6,336 6,132 204 3.3
04('02|01|2U—>Ty 7 FOYo b Z |BEE 70 70 0 0.0
'04|'02 |01 |k EEEE 7 |Bs= 187 362 A175] A 483
'04'02 | '01 | EEFRALIR F RN R 2 Z |BEEYIER 1,378 1,382 A4 AN0.3
'04'02 | '01 |HTTiHEEE & Z |BEEYIIRR 55,341 54,230 1,111 2.0
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0402 (01 | EBEREAGE 2 N+ 54,038| 79,514 A 25476 A 320
04102 |02 | ZHINEEE = Z |BEYIEZ 30,514 36,665 AN 6,151 A 168
'04('02|'02 |iERBEMEHETEEE Z (BRI 1,599 1,427 172 12.1
04102 |02 | CHRBICEERICHESE Z |BEYIEZ 61,001 59,807 1,194 2.0
'04'02 | '02 |ALIR PR EE 4 E IE ALIB NS SRR 25 Z |BEEYIIRR 1,117 1,129 A12 All
'04('02|'02 | ZHMIBEB~ DO REEN DEAEE = Z |REYIEZ 115,134 78,335 36,799 47.0
'04'02|'02 |EEFFLIBERE A& 2 N+ 133,294 115971 17,323 14.9
040203 |IBIEL Y X —BEEGEEBEE = Z BBt a2— 72,025 74,932 A 2,907 A 3.9
'04|'02 | '03 | PaA IR AL EEE £ Z Bt 42— 1,852 1,260 592 47.0
04 (02| '03 | RIRID IS B AR R Bin B IR E Z (B Er 24— 29,218 32,454 A3,236] A 100
'04('02| 03 BBt v 4 —%iE (PRkiER) T Z Bty 42— 12| 16,809 A 16,797] A 99.9
'04|'02 | '03 |[AEiEREREE Z |BHASIGIEY 34,478 6,011 28,467 473.6
'04]'02 [ '03 | A MBS B [H3E]) Z Bt a— 189,123 0 189,123 i
'04|'02 | '03 | EEF LIRS B E AFE = ANEE 81,247 79,471 1,776 2.2
'04'02 |04 | L RALERIL S 2 e 46,427| 47,826 A 1,399 A29
'04('02|'04 | LERER VSIS RAEEE = BiEE 305,078 301,842 3,236 1.1
'04 (02| 05 |EHE iR R 7 (B iy 5,196(3,209,133| A 3,203,937| A 99.8
'04|'03|'01 |/EkREELABS & M BGE 219,621| 201,284 18,337 9.1
'04('04| 01 |[ZEBESHHIROHES = B BGR 6,238| 10,634 A 4396 A 413
'04|'04 |01 ;ﬁég%ﬁﬁw}i (HFABERRLER Z |MBE 208,791| 28,444 180,347 634.0
'05|'01|'01 |BEZESZEEE £ EELIESIS 7,538 7,538 0 0.0
'05 |01 | '01 | EesthiR B IR R 2 % |REZEEHR 4 4 0 0.0
'05]'01|'01 (BB Bh@E E(LBYE S Z |REZEEHAR 4 4 0 0.0
'05('01| 01 |BEEESEE % |REZEEHKR 518 513 5 1.0
'05|'01('01 | BEREREEBRIRETEE Z |REZEEHAR 93 82 11 13.4
'05|'01|'01 |BEZEELE—REREE % |REZEEHR 261 153 108 70.6
'05|'01|'01 | BEZESERB AGE = N+ 16,557 16,212 345 2.1
'05 | '01 | '02 |2 IS B E AR = AEE 40,097| 43,467 A 3,370 ATS8
'05 [ '01 | '03 |45 RIBHEHIEE A FBIRK EHE Z |BER 336 410 AT4l  A180
'05|'01('03 | EEEEEENREE S RS 4,428 3,366 1,062 31.6
'05('01|'03 | BEIREE —EWMEE Z |BER 587 510 77 15.1
'05|'01|'03 | DU IERE % |BER 300 300 0 0.0
'05|'01|'03 | =HBHRE - ROEE ES BER 90 90 0 0.0
'05|'01|'03 |BRIBREBRETIRESE = BER 363 299 64 21.4
'05]'01|'03 | BERHRAMBERE ES RER 1,500 2,625 A 11251 A 429
'05|'01|'03 |=HBERERREREEE = BER 1,300 1,300 0 0.0
'05('01['03| kv SREKRBHEE ES BER 4,200 0 4,200 i
'05('01|'04 | LR EFHHEESE z |BER 16,400| 16,466 A 66 A 04
'05 | '01 | '04 |17 R U At B A iR B ES BER 8,000 9,000 A1,0000 A111
'05|'01|'04 | eHEY ORIFEE = BER 13,002 12,830 172 1.3
'05|'01|'04 | EHhEE— i ImEE - Z |BER 512 494 18 3.6
'05 | '01 | '04 | R MBI RS R AR HEE = BER 16,588 16,688 A 100 N 0.6
'05('01|'04 | DL EAIEEIRERE ES BER 7,675 7,272 403 5.5
'05|'01'05 |hE REEFEE &= Z |E£A: 18,987| 19,135 A 148 A 0.8
'05|'02 | '01 |KEEMRBEBEE AR ES N+ 42,402 34,265 8,137 23.7
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'05|'02('02 | REAHE AR E SR EERBU N REE % |kER 445 530 A 85| A16.0
05|02 | '02 [t e B 7 |KER 2135] 2,082 53 2.5
05|02 | ‘02 | @B EE 7 [k 842 842 0 0.0
'05]'02 | '02 B REHEIESEE Z |KER 1,024 1,024 0 0.0
05|02 | ‘02 | KERm B EmEY z ks 514 580 A66| A114
05 02| 02 |[mEmHREEEE 7 [kER 6 10 A4l A400
05| 02| 02 | T HRBEBI TR ANT T T Y TR = |kEz 3500 45000 A 1,000 A 222
BEORTE - R
05| 02| 02 Eﬂ%‘ﬁ% (:?ﬂ@ﬂb@) KEY)RBILEBERE P - 4252 4684 A 432 A9z
W BB B R

0502 (03 |EIIRE b A LT EREL 7 [k 338 334 4 12
05|02 | ‘03| = mHmMEREGATTERELE 7 |KkEm 2.505| 2,692 A187]  A69
05|02 | ‘03 |[FrmsmEEEEY 7 |z 4682 5811 A1129] A194
05|02 | '03 | LiER L 7 |KkEm 4 2 2 1000
05|02 | ‘04 | ZsmsmEE =| [KxEm 20,400] 31,008 A 10,608] A 342
05|02 | ‘04 s —pEmEy 7 |KkEm 1,025 965 60 6.2
05| 02| 04 [emsEmEE % KEEE 4111 4773 A662] A 139
05|02 |05 ziz;i;gﬁ@%ﬁ“o P AT £ KER 9,720 24,000) A 14,280] A 595
'05]'02|'05 |#TEBEL Y 4 —BREZRE ES Z kPR 11 11 0 0.0
05 02| 05 [ 7 |KkEm 52 54 r2| A3
05| 02| ‘06 | i BRI AR S % BB 45240| 53473 A 8233 A 154
06 01|01 |[EATREBmE AKE % JET 95,172 101,591 A6419]  A63
'06|'01|'01 | Th L BGREFI—MEREZE Z | SEMRR 1 1 0 0.0
'06|'01|'02 (A2 - BEAME RN BETIEEE ES B TR 1,472 1,653 A 181 A 109
'06]'01 | '02 [HuigE ML B2 S Bt TR 978 978 0 0.0
06|01 | ‘02 [T HHEREL =| |@rmre 2,690] 2,690 0 0.0
'06|'01 | '02 | EETE AT ESEEBNEZE Z |BXmIR 218 207 11 5.3
06| 01| 02| =712 - RS BB B 7 lermra 68 68 0 0.0
06|01 | '02 | EERSEF MO FL =| |@xmrs 638 595 43 7.2
06|01 | ‘02 | ZmmEENEN T RS EE =| |@rmre 1,952| 1,820 132 73
'06|'01|'02 | T HIREE —REBEE z |ExrmTsR 187 188 A1l Aos
06| 01| 03[R - mREEE =| |ExmIs 2,456] 2457 A1 0.0
‘06|01 '03 5;;;\;;_74 YR ny RS = x| |mzmns 1013|1016 | N
'06|'01| 03 | B FHE M EL =| |srmrs 3317|3317 0 0.0
06| 01| '03|@k KT 74 TREER z |Bxrmrs 185 185 0 0.0
06|01 | ‘03| ApEFEEEEE % 7 lgxmre 32,387| 15410 16977 110.2
06|01 | ‘03 |gsk iR =| |@rmre sss| 6018)  A5160] 2857
06| 01| 03@HA T rA—v a2 x—EEEE =| |ExmIs 7148] 7,067 81 1.1
06|01 | '03 (BB —MREEEE % z |exmT 1,015 452 563  124.6
06 01|03 [imAnipEmEL z |@mTR 3178 3172 6 0.2
06 '01( 03[ %> 0— 2 AspEE z |Bxrmrs 518 509 9 18
06| 01| 03 |@ ooy HESE =] |wez 43| 20,030 A 19987] A998
06| 01| 04 immEEsEEEEEE % z |exmT 1254 1592 A338] A212
'06|'01|'05 | EXMAR—MEBEE =2 Z |BERHXR 261 260 1 0.4
'06]'01['05 |45 bHEETOE— 2 EE 2| |=zpxs 2304] 2303 1 0.0
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'06|'01('05 |FH AR bEEFH IO E—T 3 VFRE S TRE 847 1,222 A 375 A30.7
'06 | '01 | '05 |HuiGmE R H B AN SRR 2 ES SESLEEE 708 686 22 3.2
'06|'01['05 |45 bERHEE ES EERRER 855 855 0 0.0
'06|'01|'05 |=HEKRTRY T Y v EE ES SESLEEE 9,000 9,000 0 0.0
‘07|01 | '01 | A 4ER R S R 2 A E= 19,922| 19,872 50 0.3
'07]'01| 01 | T AMBEBE A& & AFER 27,443 21,811 5,632 25.8
'07('01|'02 |{EE Y 7 4 — LBhREE ES B G R 2,804 2,804 0 0.0
'07'01 |02 |HERVEHS I HEEE Z |MEEEE 103 107 A4 A 37
'07 [ '01 | '02 | A& EEMEZ MR E Z |MEEER 100 100 0 0.0
'07|'01 |02 | A& EEMERIEHBHEE Z |MEEEE 450 450 0 0.0
'07 01|02 |BEHFARVEREE % |mEEER 169 165 4 2.4
‘07102 |01 |ERREEREE Z |EARE 5,266 5,317 A 51 A10
'07('02| 01 | LARAHESEE A E= 5,779 4,822 957 19.8
'07'02|'01 |EEIBY & SHBEEBE AGE & PNE:E 121,239 118,910 2,329 2.0
'07)'02('01 | B SR BIGEREE Z | KRR 84 84 0 0.0
‘07 ['02| '02 | EREHEF RIS & Z |EARE 32,962 20,185 12,777 63.3
'07'02('02|1BY & S HESEREE A E= 90,464| 118,766 A 28302 A 238
'07('02] 02 | ZBL X HEEE Z |EARE 55,170 50,570 4,600 9.1
'07('02| 03 | =AMt E KRS EEE A E= 7,504 7,108 396 5.6
'07]'02|'03 | K ¥FEEGRHEEHRREE (4] S TARE 4,000 0 4,000 Heig
‘07|03 '01 |l 1IEfmEE [H8]) Z |EARE 7,623 0 7,623 Heys
‘07 [ '03| 01 |Al) Hft IR A E= = 6,621 8,348 AL727 A207
'07'03 |01 |A)IIR R B R B AR = A= 18,106 17,517 589 3.4
'07 | '04 | '01 | LISt IRE R (R HE R 2 ES B ETEIRR 321 124 197 158.9
'07('04| 01 | R ERENKEHEE ES B ETEIRR 1,032 878 154 17.5
'07]'04 | '01 [{EEHE(H{EESZE Z |#HEHER 40 38 2 5.3
'07|'04 |01 |BRERERAFERHEE Z |#FrEtERR 5 5 0 0.0
‘07 ('04| '01 | RERITEUGEE S % |#BrETIER 152 135 17 12.6
‘07 '04 | '01 | & ETEIIF MR E 2 Z |#BTHEHER 603 545 58 10.6
‘07|04 | '01 | H#X - HEELLABIRIBR DT % |#BFETIER 714 690 24 3.5
'07]'04 | '01 ((FERIERHEHEEE Z |#BTHEHER 9 3 6 200.0
'07('04| 01 |#BrETEI— R EEEE % |#BrETIER 337 453 A116| A 256
‘07|04 | '01 [MhEEREEE & Z |t ETEER 7,692 9,420 A1,728] A 183
'07|'04 | '01 | BHHRBEBE AGE & AEE 121,772| 117,551 4,221 3.6
‘07 [ '04 | '01 | &R BER AR — iR E TR E Z |EBThETERR 1 1 0 0.0
'07]'04['02 | RE—VHEEZEREEE (NE) Z | £AKE 33,404 15,448 17,956 116.2
‘07|04 | '02 | NERRMEHELE % |+AE 20,058 12,745 7,313 57.4
'07 [ '04 | '03 | BAEBREL A N> P ER(BESE Z |IRIRE 22 22 0 0.0
'07('04 | '03 |EiReEE Z |BER 888 4,899 A 4011 A 819
'07('04|'03 |4 &Y EEERERHEE Z |BmiEE 31 36 A5l A139
'07('04 | '03 |#R{LHEEFZE Z |BER 1,319 1,108 211 19.0
'07 [ '04 | '03 | BARAREE S IATEE Z |RiER 42 38 4 10.5
'07|'04('04 | AETAEEERTEES [F118] E= BABGR 567,810 0 567,810 Heig
'07 |04 | '04 /A\#T*E%%ﬁ%ﬁﬂj@ (BB RAR z |HBGE 102,105 0 102,105 g
HEAEHN) I

'07]'05| 01 [FECEEFEEEHEE ES MEEER 11,943| 25,295 A 13,352 A 528
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'07('05| 01 |HEEEEEEE & % |mEEER 7,144 7,142 2 0.0
'07]'05| 01 [(FEEEEBEAGE # PN 15,608 14,559 1,049 7.2
'07|'05 | '01 |EFERINEE Z |MEEEE 25,344 9,684 15,660 161.7
'08 | '01 | '01 |SHBAAKFIFER B R 2 = P 6,012 6,502 A 490 AT5
'08('01| 01 |HimHprEtEEE Z |BrseE 740,696| 846,565| A\ 105,869 A 125
'08|'01 |02 |SHBAE— AR EIREE & Z |BraR 36,971| 33,608 3,363 10.0
'08 |01 | '03 |BE K ATEUIEIREZE & AEE 254,797| 234,285 20,512 8.8
'08|'01 | '03 | K EXE K EEMMEEELE Z |BraR 10,541 216 10,325| 4,780.1
'08['01| 03 B3 —mpiE IR & Z |BrsE 6,009 2,945 3,064 104.0
'08|'01|'03 | KENKEBE AGE = ANEE 64,982 55576 9,406 16.9
'09|'01|'01 |HBEZESEEEE Z |BEREER 4,349 4,298 51 1.2
'09|'01|'02 | HEZELEKR—MREREE Z |HERESR 602 649 A 47 AT2
'09('01|'02 | EHREME A GE £ AER 128,784| 130,180 A 1,396 A1l
‘09|01 |02 |/NERHEBREEELEE £ HERIER 690 75 615 820.0
'09|'01|'02 |BE % |BERER 10,211 9,605 606 6.3
'09|'01 | '03 | B R R U= E Z |ERHER 364 348 16 4.6
'09]'01('03| /O — N HBEHEEE ES FREER 9,930 9,820 110 1.1
'09|'01|'03 |HEHIEEHEEE Z |ERHEE 2,010 1,891 119 6.3
'09|'01|'03 |EERKBEEE % | ERHER 18,613 18,077 536 3.0
'09('01| 03 |HEMEAEE % PRYE R 1,257 1,269 A12 AN 0.9
'09('01|'03 | BEEEE Z | ERHER 1,276 1,307 A3l AN 2.4
'09('01| 03 |HEEEEHNEEFE Z |ERHER 217 195 22 11.3
'09('01|'03 |HBERE—REBEE Z |FRHER 135 142 NT A 49
‘09| '01 | '03 |HhigisE HiEREE Z |ERHER 147 147 0 0.0
‘09|01 |03 | S B HEES BB R ES FRYE R 2,661 0 2,661 i
'09('01|'03 | EE R P ERMEE Z |ERHER 1 1 0 0.0
‘09102 | '01 |/NEEAS BT FIRFT R B Z |BERER 313 313 0 0.0
‘0902 |01 |HBERENFREBESHE Z | BERER 13271 13,297 A 26 AN0.2
'09'02 | '01 |/ NP EBYEHBHEITEREE = Z |BERER 53,972 51,574 2,398 4.6
'09['02|'02 |/ PR FHIIR A EE = Z |ERHER 13,484 13,362 122 0.9
‘09|02 | '02 |/NERBS B E AR L & Z |FRHER 40,376 40,760 A 384 AN 0.9
'09]'02['02 |!NERLEREERKEFRESRE 2 FRYEE 1,432 1,638 N206] A12.6
'09('02|'02 |/ hNERFRKEGERREZE Z |ERHERFR 1,816 1,897 A 81 AN 43
'09 [ '02| '02 |/NFEIBLEFIEBh B Z | ERHER 14,851 18,173 A3322] A183
'09|'03 | '01 | PSR EFIRFTRELE Z |BERIEE 101 101 0 0.0
'09 03|01 |HBEREFFREBESHE Z | BERER 10,565| 10,574 A9 A0.1
'09|'03 |01 | hEREBYBHHMEITEREE e Z |BERIEE 30,325| 32,732 A 2,407 AT4
'09 [ '03| '01 | PR HEE Z | BERER 2,936 2,727 209 7.7
'09|'03 |02 | KRBT HIRAEEE E= Z | ER 6,357 6,395 A 38 N 0.6
'09|'03| 02 | P RBM AU B BIHEE = Z | ERHER 12,250| 16,525 A 4275 A 259
'09'03|'02 | FERLEBEERHEREEE E= FRYE R 908 1,418 A 510 A 36.0
'09]'03|'02 | ERFRKEGERREE Z |ERHEER 1,146 1,179 A 33 A28
'09|'03 |02 | hF I FIEBhEE Z | PR ER 12,292 14,401 A 2109 A146
'09|'04 | '01 | R HaREE & Z |ERAEEE 162,150| 159,036 3,114 2.0
'09('04| 01 |[MEEEEHRE \HE ES ANEE 16,404 16,775 A 371 A22
'09]'05 | '01 | =HHXIbREE Z |SUL R R —v R 75 70 5 7.1
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'09]'05 | '01 |EMRRSEEEESFE & Z |SUL R R — v R 1,926 1,895 31 1.6
'09|'05 | '01 |[#HEHBERABKREE (PTA) Z e 2B —v 8 58 58 0 0.0
'09('05| 01 |{HEARBERE—REBEEE Z | rF—v 25 31 A6l A194
'09|'05|'01 |HEBBEEEEHE Z e 2B —v i 142 143 A1l N0
'09]'05| 01 |[HEHBHHRESE Z | zxF—v2 125 125 0 0.0
'09'05 | '01 |HEHBERBEBE AHE & A=ER 72,793| 66,979 5,814 8.7
'09['05| 01 | AMfER B H#EERRE Z |k rF— v 163 159 4 2.5
'09('05|'02 |XMLEAREZEREE Z | RFR—V R 84 84 0 0.0
‘09| '05 | '02 | FIREHFIER T B FIBRAETEE Z |SUL R R — VR 2,186 2,179 7 0.3
'09['05 | '02 | XML EATERR HERF E TR 2 Z | RFR—V R 352 361 A9 A 25
'09 | '05 | '02 | S{LEAREE— M BIREE Z | rF—v 315 30 285 950.0
'09|'05 | '02 |#EE AL MR BB AL HEEE Z |3 RR—Y B 435 285 150 52.6
'09['05| 02 | =AM IEMEHEEEAIREEE Z |3 RB— R 1,000 1,000 0 0.0
'09|'05|'03 | AREET = AT 4 /NILEE z | THEer&— 8 8 0 0.0
'09|'05|'03 | THTRE Y X —HIFEEEE Z TRty &— 5,521 5,365 156 2.9
'09|'05|'03 A THTRE Y X —HEKBEREEEE = BmTEE 82— 1,129 912 217 238
'09|'05|'04 |MEHREYR—£ DY HE Z |Eey 2 — 8 8 0 0.0
‘09|05 |'04 | MIETRE Y X —HFEREE = z |(mEEy&2— 8,612 5,483 3,129 57.1
'09|'05('04 | METmRE Y R —HaREiREaEE ES MELYyZ2— 1,157 912 245 26.9
'09('05| 05 |MEUNELIEREE Ry = % |mEE 6,096 5,517 579 10.5
'09('05| 05 |MEmESEBEE = % |mEE 3,237 3,885 A 648 A16.7
'09|'05 | '05 |MEEEEE AFE & AEE 16,830| 16,338 492 3.0
'09 [ '05 | '06 |fiskEB T A HE Z | B EHBER 388 388 0 0.0
'09('05|'06 | F &b aEENRERE Z |BYEHER 120 150 A30]  A200
'09|'05|'06 | F &b oEE Z | BV EHER 37 37 0 0.0
'09|'05|'06 | EOEHE—REREE Z |BYEHER 5 3 2 66.7
'09'05|'06 |FRADEDDEWEE Z | B EHER 48 48 0 0.0
'09('05|'06 | P EMBEHBERTE Z |BYEHER 120 120 0 0.0
'09|'05|'06 | HEHEIREEEBELE & Z | BV EHER 1,224 1,154 70 6.1
'09|'05|'07 | =SHHR A —LEE & Z R K-V B 23,786 19,862 3,924 19.8
'09|'06 | '01 | PR B HERFIMELE Z |3 RH—V R 1,535 1,376 159 11.6
'09('06| 01 | AR bRIEREASEF RESE Z R K-V R 80 91 A1l Al21
'09['06| 01 | R FE—vitERFLEE Z |z B—v R 40 40 0 0.0
'09]'06 | '0L [hAIE<HEERSEZE Z | XERKR—V R 60 59 1 1.7
'09('06| 01 |RAE—vVittEEE S ES Z |z B—v R 1,215 1,192 23 1.9
'09('06 | '01 |Hets R F — ViR EEE Z | rF—v 1,620 1,620 0 0.0
'09|'06 | '01 |fRMEABHE—IRERELE Z e 2B —v iR 2,354 1,850 504 27.2
'09|'06 | '01 |{RMEABHRBEBME AFE & ANEZ 13,503| 13,780 A 277 A 2.0
'09('06|'02 | A R—VHEHEEEEEE (KR - Z e 2B —v iR 57,177| 53,836 3,341 6.2
'09('06 | '02 |ABHEREBEAHE & PN 151 253 A102]  A403
'10|'01 | '01 |2 AR K EEIREE Z |BER 1 1 0 0.0
'10|'01|'02 B K EEIHEE % |kPER 1 1 0 0.0
'10('02| 01 |EHEE Y & 5 KEEIREE % |+AE 1 1 0 0.0
'10|'02 | '02 Al K EEIHE Z | AR 1 1 0 0.0
'10]'02|'03 [EFEEXEEIHEE Z |MEEER 1 1 0 0.0
'10|'02 | '04 | HMERR K EEIBEE [HR] Z | AR 1 0 1 e
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'10|'03| '01 (A FRIEL K EEIHEE Z |BERER 1 1 0 0.0
'10|'04 [ '01 | A HER K EEIREE Z B EGR 1 1 0 0.0
11('01|'0] | AMfEETHEREE (—K) # BEGR 1,549,830] 1,496,122 53,708 3.6
"11('01|'02 | AMEEFFEREE (—H) = BEGR 100,946| 122,391 A 21,445 A 175
"12('01|'01 | FREEEESEE (—K) = B EGR 50,000{ 50,000 0 0.0
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'01]'01('01 |—REEEE (BR) z |RBRFEER 16,437| 11,197 5,240 46.8
'01]'01|'01 |—EEEHEAGE (BR) & RREER 67,612 66,927 685 1.0
'01]'01|'02 | EEsBIBEEE z |RBRFEER 1,812 1,851 A 39 A21
'01('01|'03|hRABEIBEEE [F1R] Z |1REEERR 21 0 21 g
'01]'02'01 |BFRBUNEE (BR) Z |REFEEE 4,320 4,306 14 0.3
'01]'03| 01 |ERESHFESEE Z |RERFEER 320 256 64 25.0
'02|'01| 01 | —MIRIRREEBIGTRE 2 RIRESE 3,591,798(3,615,678 A 23,880 A 0.7
'02|'01|'02 |\ BBIRRBE SREREE = REBERED 2,446| 14,337 A 11,891 A 829
'02]'01|'03 | — MR IRIRE BB X IAEE 2 RIREDE 38,044| 39,718 A 1,674 A42
'02|'01|'04 | EBRBRESEBEERREE = RIRESZ 32 353 A 321 A90.9
'02|'01 | '05 |[{RpRFIGFTEEILFHE = RIREDE 12,485 13,570 A 1,085 A 8.0
'02]'02 [ '01 | — AR IRIEE S EREE I AEE & REESE 501,477| 491,233 10,244 2.1
'02]'02|'02 | REHIRMRE S S EREEnRE ES RIRESR 411 2,192 A 1,781 A813
'02]'02 | '03 | — M RBESENECEEEEIREE & REESE 332 161 171 106.2
'02]'02 | '04 | REHRRMRESSENECEREETREE ES RIBEDE 1 25 A24] A 96.0
'02]'03 [ '01 | —MAFRIREB X E X IAEE & REESE 64 64 0 0.0
'02]'03 [ '02 BB R EEBRETIREE ES RRFEZR 1 1 0 0.0
'02('04| 01 |HHEBR—BEXIAEE = RIREDZ 17,649 21,431 A3782| A17.6
'02('05 | '01 |ELRETAEE Z |RpEESR 4,450 5,000 A 550  A11.0
'03|'01 | '01 | — AR B BB BT ELE = RIREDZ 1,163,930/ 1,321,197| A 157,267 A 11.9
'03|'01 | '02 | BB R R E FERIGNE DM SHE = RIBFE SR 2 565 A563] A 99.6
'03]'02| '01 | — MR IRBRE RIS HEXIESSINTEEE | & REESE 406,700 397,389 9,311 2.3
03|02 | ‘02 %‘W&ﬁ RESHBEREXRLEINOLE | o RRESSE 1 210 A 209 £ 995
'03['03| 01 | N EEMTEDMTEEE 1RBRE SR 169,334 155,140 14,194 9.1
‘04|01 |01 | ERELESSEE ES RIRERT 32,525 24,622 7,903 321
'04]'02|'01 |2k EEE (BB S RERESR 17,135 16,909 226 1.3
'04('02|'01 |1RfEFEZE z |REFEEE 1,730 2,533 A 803 A317
'05|'01|'01 | ARESEISEE Z |RBESE 5 11 A6l AB4S
'06|'01| 01 | NfEETEEESE (BR) e RREZR 22,200 28,600 A 6,400 A 224
'06('01| 02 | AMEENFEESE (BR) [F8) = 1RBRE SR 1 0 1 CE
‘07| '01 | '01 | — MR E RIRBUR (T B L Z |RBEEER 9,329 8,294 1,035 12.5
'07]'01 | '02 | REHRRIRE S RIRITB(T EFE z |RBRFEER 79 125 A46| A 368
'07('01|'03 |EELEE (ER) Z |1REEERR 1 1 0 0.0
'07]'01 | '04 | —MARIRBREE(SIME S FE z |RBRFEER 190 144 46 31.9
'07|'01|'05 | EBHRBRESRIINESEE Z |1REEERR 2 3 A1l A333
'07|'01|'06 | FERREELSGHESHERSEE z |RBRFEER 1 1 0 0.0
'07|'01|'07 | BEXHERNSEE [HR] Z |1REEERR 1 0 1 =t
'07]'02| '01 | bR ERTEIBE (ER) & RERESR 7,174 3,334 3,840 115.2
'07'03|'01 |fEEAEABEEIESEE e REZE L 10 50 A 40| A 80.0
'08('01|'01 | FREEESRE (BR) & RERESR 5,000 5,000 0 0.0
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wishEEREERISE

(BAL: FM)
BREXS
| BEE L x
%= 8 B2 #l=|* a4 EE | WE |
1) THE | FEE (%)
% | e
1t
'01]'01|'01 [—fEEEE (18HD) Z |REERER 2,333 2,243 90 4.0
'01]'01|'01 [—EBEBEAGE () = REEFEEF 17,400 17,230 170 1.0
'02|'01 | '01 [ EAMtEEE # RIEFERR 834,601 741,973 92,628 12.5
'03]'01 [ '01 |[{RERRLB(TEEE Z |RBEEE 2,398 2,399 Al 0.0
'03['01|'02 EMMESEE (88 Z |RESR 47 37 10 27.0
'04]'01('01 | FREEEEE (BH) £ RBRESE 800 800 0 0.0
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N ERREEERSE

(Bfz: M)
BEXS
%= 8 B2 #l=|* a4 AERE | HEE | | B
w | 5 1) YEHE | FEHE (%)
ft

'01]'01('01 |—REBEE (N F#) Z | R 3,327 3,041 286 9.4
'01]'01|'01 |—REBEHBEAGE (NiE) & SR 79,997| 77,734 2,263 2.9
'01]'02 |01 |BtEEMUNESE (HH#) % |EmNER 3,018 3,037 A19 AN 0.6
'01['03|'01 | NEREBEREE Z |eimER 5,665 5,615 50 0.9
'01]'03['02 |RERAEEE Z | SN R 28,438 25,145 3,293 13.1
'02['01| 01 | N EEY — £ XFEHTEE = BN E R 4,521,674|4,491,628 30,046 0.7
'02]'01['02 |RFEAFTENEY —EREBEFE 2 ST £ 176,493| 176,207 286 0.2
'02|'02|'01 |BAXILEE = SR 3,680 3,583 97 2.7
'02|'03 |01 |SENEY —C AEBHFE £ SR 125,717| 109,494 16,223 14.8
'02'03|'02 | SEEESENEY - XEHEE & BN E R 18,487 23,278 A4TILl A 206
'03]'01|'01|581 8 5pRIEE 2 ST £ 23,070| 23,045 25 0.1
'03|'01|'01 |FE1SBATEE = BN ER 83,843| 89,081 /5,238 A 59
‘03|01 |01 |FE1S 4 ERIEEE ES BN R 698 483 215 445
'03|'01|'01 |B1IBNEFIHIBEEE = SR 12,930 13,729 A 799 A58
'03|'01|'02 | BEXILFEE ES iR 385 386 Al A 0.3
'03['01|'03 | BENEFHY - REEEE = SR 62 296 A234] AT
'03|'01['04 |SBEEREENEFH Y —CXAEHEFRE e =N R 146 61 85 139.3
'03]'01|'05 | N EFRHIEIEEE Z |=in R 27 27 0 0.0
'03]|'01['05 | NEEFIHE REFKEE ES ST £ 2,602 2,288 314 13.7
'03|'01 | '05 [N EFREB T IEEE % SR 13,559 12,445 1,114 9.0
'03|'01|'05 | — N EEFRHEETMEE Z | SN R 26 25 1 4.0
'03|'01['05 |#uH Y N F— 3V IEBTIEEE Z | SN ER 30 30 0 0.0
'03]'02|'01 | BEXEL Y X —BEFE Z |=in R 57,671| 50,421 7,250 14.4
'03]'02 | '01 |EEER - NEEIEHEEE Z | SN EE 6,110 6,117 AT A 0.1
'03]'02 [ '01 |4 SEXIB AR EEE Z |=in R 2,617 5,222 A 2,605 A 499
'03'02 | '01 |FRAVERAZIBELE Z | =N ER 2,396 3,263 A 867 A 266
'03'02 | '02 | RN EXIEELE ES BN R 499 505 A6 A2
‘03102 |'02 |[{FEHELIEELE Z | SN ER 100 116 A16| A 138
'03|'02 | '02 |piEtk RAIEMN AR ERLE Z |=wpaER 2,545 2,348 197 8.4
'03'02 |02 | NS ERAE T EE z | SN ER 825 822 3 0.4
‘04|01 | '01 | N ERBRIGT B SR ILEHRSETEE = BN R 8,481 1 8,480| 848,000.0
'05|'01| 01 | NMEEF FEEEE (N 2 ST+ 165 165 0 0.0
'06('01| 01 |[{RIRELEMEE Z |eim R 2,273 2,258 15 0.7
'06|'01('02 |fEEEEE (NE) Z | SN E R 1 1 0 0.0
'06|'01| 03 | BfIIMEEEE (i) Z | =N ER 1 1 0 0.0
'07('01| '01 | FHREEESRE (N#) & S 10,000{ 10,000 0 0.0
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e EES e

(AL 0 FF)
BEX
. " | = NEE | EE flEE
Z|E| R NRES ;‘f; z o E cum | vam KRR (%)
ft
'01|'01|'01 [T EmEE Z |HiBEREBA 32,548| 42,492 A 9,944| A 234
'01]'01 [ '01 |ZkIBA(H) BRI sREZE ES MG EEREEA 10,809 10,740 69 0.6
'01]'01|'01 |—MEBEHEAGE (F15) =2 MISEBEEB 51,409 46,786 4,623 9.9
'02|'01|'01 |HipEREREE % |WISEEERAR | 147,035 129,525 17,510 13.5
'02('01| 02 |KEMEREEREE Z |HiBEREBA 9,831 12,359 A 2528 A 205
'02|'01|'03 | iR EEREREE Z |miBEEERH 4,278 4,383 A 105 AN2.4
'02|'01|'04 |Hism R EEEBRNREE ES MISEBEEB 477,890 967,292| A 489,402 A 506
'03|'01|'01 |HipHER K EEIREE Z |miBEEEHH 1 1 0 0.0
'04]'01['01 | AMEBETEEREE (T15) =2 mISEBEEB 40,101| 35,207 4,894 13.9
'04]'01|'02 | NMEEF FEESEE (F5) & mIHEEEB 6,925 4,270 2,655 62.2
'05|'01| 01 | FHEEEEE (Hi5H) =2 MISEBEEB 4,000 3,000 1,000 33.3
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Bt/ 2 -EREHEBEEEERFIRE

(BAL: FM)
BREXS
| BEE L x
%= 8 B2 #l=|* a4 EE | WE |
1) THE | FEE (%)
% | K
1t
‘01 |'01 |'01 [NMEETEERSE (=€7) # HmRE 7,501,000 374,000 7,127,000 1,905.6
'01 ['01 |'02 | AMEEFFEREEE (Z+7) % TRE 162,081 166,792 A 4,711 A28
'01 |'01 ['03 |HE&EEEE (Z+w7) z |mEE 1 1 0 0.0
'02 ['01 |'01 | FEEEEEE (=€) £ TRE 500 500 0 0.0
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RbtRERET

(B M)

. REE B - (GBS

INBEL B4 S S YRR (%)
FRAEEEE e 3,283 2,911 372 12.8
BB AHE (%) SRBTATES IR 1,792,040| 1,738,873 53,167 3.1
EERE e 1,033,037| 1,039,488 A 6,451 AN 0.6
BEHEEE (k) SRBTATES R 10,846 35,470 A 24,624 AN 69.4
DEENSEEREE TRbE TSR 37,990| 40,654 A 2,664 N 6.6
EE/NEHE TRBTATES R 41,086 34,305 6,781 19.8
KRBAEREE TRBEHATEER 1 1 0 0.0
R EEERAFHETEEE TR ER 30,000( 50,000 A 20,000 A 40.0
BEBAEE SRBTATES IR 50,050 34,320 15,730 45.8
MEER TRBTATES R 84,920 19,001 65,919 346.9
EEEREE SRBTATES R 230,349| 187,478 42,871 22.9
RYBENEEE (Fb) TRBE ISR 8,400 8,400 0 0.0
BEANZHFREEREE TRBE ISR 10,000| 10,000 0 0.0
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KEEERE

(Bfz: M)

. B} REE | OEE . i3

IR - sum | vmm | 0 | ()
HREEEE TR 110,351 82,640 27,711 33.5
KEREHNEREE HER 15,933| 15,468 465 3.0
KERGEYUNESZTEE HER 56,672 55,729 943 1.7
KEEHEEEEE =R 83,297| 76,295 7,002 9.2
KEBEERHRERE HER 1,025,291|1,028,978 AN 3687 A04
Ta/kEFRR AT = Fa7kER 8,294 8,035 259 3.2
KEREE FAKER 563,190| 556,788 6,402 1.1
SHm LK ERERFERTE HER 224 168 56 333
ERrEAmE L B EEE Fa7kER 41 9,469 AN 9,428 A 996
EHEBNEE FAKER 133,825 140,474 N B,649] AA4AT
Z DIEARNZH Rk R 13,618 13,536 82 0.6
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TAEEERG

(Bfr: FM)

e . REE | SIFEE . (GBS

IERA R vem | vam | | ()
BELEE ISEES 29,597 - -
pUBLE e TrkER 154,257 - -
Ry TR TAKER 8,159 - -
—EEEE TrkER 113,853 - -
BMENEE ISEES 583,621 - -
BERERE TrkER 4,138 - -
TEEBANEEEREEE ISEES 98,412 - -
BRSNS TrkER 20,254 - -
FERIB R E ToER 11,708 - -
CERI= T EES TrkER 110,965 - -
AIBISENWREE TkER 37,562 - -
Ry TIHERRMREE TAKER 30,800 - -
hEEEREEFE ESEES 621,465 - -
FlirEEREE TKER 1,000 - -
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